
1 2

3 4

Rev. 04/21

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

Make:

Model:

Applica�on:

1/2” Socket/Wrench
3/16” Hex Key

Panel Removal Tool
10mm Socket/Wrench

Drill
5/16” Drill Bit/Step Bit

3-PC Front Spli�er

Subaru

2013-2019 BRZ

QTYQTY

5/16” Flat Washer
5/16” Split Lock Washer
5/16”-18 Nut

5/16”-18 x 1” Socket Bu�onhead
Front Spli�er - Side Piece
Front Spli�er - Center Piece1

2

8
8
8 

8

QTY

Remove factory splash guard by unfastening factory 
clips holding it in place. 

Locate and unfasten the factory clips on the fog light splash 
guards - this will aid in installation. Locate the farthest right hole 
(circled above) and fasten the corner of the driver-side splitter 
loosely to hold it in place. Repeat on the passenger side.

Next place the center splitter piece inbetween both ends 
and clamp/hold the splitter pieces in place as you mark the 
mounting holes for drilling. Note the center piece rests on 
top of both end pieces. Drill holes out to 5/16 inch.

Insert (1) 5/16”-18 x1” Socket Buttonhead, (1) 5/16” Washer, (1) 
5/16” Lock Washer, and (1) 5/16”-18 Nut into each mounting hole. 
Loosely fasten hardware initially, until all bolts are in. Make sure 
the splitters are aligned and then tighten them down.



5 6

Rev. 04/21

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

Completed assembly shown.Reinstall the splashguard and factory clips in their original 
places. 


